#### Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
234			
456			
876			
912			

9456 ÷ 11 = \_\_\_\_\_ 5978 + 1.67 = \_\_\_\_ 18 - 4.56 = \_\_\_\_ 132 × 13 = \_\_\_\_ 10 × 5  $\frac{1}{2}$  = \_\_\_\_ 8 × 7  $\frac{1}{2}$  = \_\_\_\_ 12 × 3  $\frac{1}{2}$  = \_\_\_\_ 1/9 × 1/3 = \_\_\_ 3/6 × 1/6 = \_\_\_ 1/8 × 1/3 = \_\_\_ 4/5 × 6/7 = \_\_\_ 1/10 + 6/10 = \_\_\_ 1/6 + 5/6 = \_\_\_ 1/8 + 7/8 = \_\_\_ 9 1/10 + 5/10 = \_\_\_\_

## Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
233			
406			
826			
932			

7456 ÷ 11 = \_\_\_\_\_ 3978 + 1.67 = \_\_\_\_ 28 - 4.56 = \_\_\_\_ 142 × 13 = \_\_\_\_ 10 × 6  $\frac{1}{2}$  = \_\_\_\_ 6 × 3  $\frac{1}{2}$  = \_\_\_\_ 8 × 8  $\frac{1}{2}$  = \_\_\_\_ 12 × 4  $\frac{1}{2}$  = \_\_\_\_ 1/2 × 1/3 = \_\_\_ 3/4 × 1/6 = \_\_\_ 1/7 × 1/3 = \_\_\_ 4/6 × 6/7 = \_\_\_ 1/10 + 2/10 = \_\_\_ 1/6 + 4/6 = \_\_\_ 1/8 + 2/8 = \_\_\_ 9 1/10 + 6/10 = \_\_\_\_

## Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
111			
906			
326			
532			

## Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
2834			
4856			
8876			
9182			

9456 ÷ 7 = \_\_\_\_\_ 5998 + 1.67 = \_\_\_\_ 19 - 4.56 = \_\_\_\_ 192 × 13 = \_\_\_\_ 10 × 4  $\frac{1}{2}$  = \_\_\_\_ 6 × 4  $\frac{1}{2}$  = \_\_\_\_ 8 × 4  $\frac{1}{2}$  = \_\_\_\_ 12 × 4  $\frac{1}{2}$  = \_\_\_\_ 4/9 × 1/3 = \_\_\_ 4/6 × 1/6 = \_\_\_ 4/8 × 1/3 = \_\_\_ 4/5 × 4/7 = \_\_\_ 4/10 + 6/10 = \_\_\_ 4/6 + 5/6 = \_\_\_ 4/8 + 7/8 = \_\_\_ 9 4/10 + 4/10 = \_\_\_\_

# Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
1834			
5856			
5876			
5182			

# Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
9834			
7856			
6876			
1182			

 $5456 \div 6 =$  \_\_\_\_\_\_ 5598 + 7.67 = \_\_\_\_\_\_ 59 - 14.56 = \_\_\_\_\_  $592 \times 23 =$  \_\_\_\_\_\_  $10 \times 7 \frac{1}{2} =$  \_\_\_\_\_  $12 \times 4 \frac{1}{2} =$  \_\_\_\_\_  $9 \times 6 \frac{1}{2} =$  \_\_\_\_\_  $9 \times 8 \frac{1}{2} =$  \_\_\_\_\_  $4/7 \times 6/7 =$  \_\_\_\_\_  $1/9 \times 1/6 =$  \_\_\_\_\_  $2/9 \times 9/9 =$  \_\_\_\_\_  $1/5 \times 1/7 =$  \_\_\_\_\_ 1/10 + 6/10 = \_\_\_\_\_ 1/6 + 5/6 = \_\_\_\_\_ 6/8 + 7/8 = \_\_\_\_\_  $9 \times 4/10 + 6/10 =$  \_\_\_\_\_

Writing Task:
Write a diary entry for each day. Explain in chronological order what you have been up to. Think about using a range of sentences and including as much detail as
possible for the reader.

Research Task:
Your topic next half term is WWII. Please can you research facts and be prepared to share these in class. Possible research areas: food, clothing, jobs, education,
rationing, evacuation and local areas which suffered.

## How did the War affect children's everyday lives?

During the war life changed for everybody, including children. For most children, the war years were a time of anxiety. For many, it was a period of family separation.

For some, it was a time of profound personal loss. Many children had to grow up quickly during wartime. Many had to look after themselves and younger siblings while their mothers worked.

#### An Evacuation

Nearly two million children were evacuated from their homes at the start of World War Two. They were evacuated to the countryside to escape the bombing. Children had labels attached to them, as though they were parcels. They stood at railway station not knowing where they were going nor if they would be split from brothers and sisters who had gathered with them. They felt scared about being away from their families and had to adjust to new schools and make new friends.

## Rationing

Children experienced a restricted diet because of rationing.

### Air Raids

Children lived in fear from the constant threat of air raids. They spent some nights living in air raid shelters just in case German planes dropped bombs on their houses. Their fears came true during the Blitz. One in ten of the deaths during the Blitz of London from 1940 to 194 were children.

#### Gas Masks

The government thought that children under five would be scared of the gas masks so they produced a specially designed Micky Mouse gas mask. It was brightly coloured in red and blue.

#### School Life

Children had to take regular gas drills at school. They found these drills hard to take seriously, especially when they discovered blowing through the rubber made 'rude' noises.

#### Tasks:

Highlight the main ideas in the text. text in the space below.	Using this information,	write a summary of the

Reading Questions:
l. Find and highlight the phrase 'profound personal loss'.
2. What does this phrase mean?
3. Find and highlight the word 'anxiety' what do you think it means?
4. Find and highlight the phrase 'their fears came true'.
5. What do you think the author means?
6. Find and highlight the phrase 'adjust'. What do you think it means?
7. Find and highlight the word 'restricted'. What do you think it means?
8. Write five of your own questions about the text.
<u>SPAG</u>
A complex sentence is made up of a sentence containing a subordinate clause or clauses
Complex sentences
Miss Brady, who enjoys baking, regularly bakes for her friend.
Hull, where Stoneferry Primary School is situated, is a famous fishing town.
Because there are so many hard-working children in Year 5, Miss Brady loves coming to work.
choice of relative pronoun.